EER=XR—EHIREY AR & (GRR) HYBI% A /284 2H250 (K)

[ R [ XIES

TN T
migg MR 6 | ARE | @Gas) &% | G@iER  |MRB| 5| KE | @EAH) &5
e 3 4 718| 218,160 e = 3 640| 1,035,720
4 i3 5 745| 298,080 4 = 3 649( 1,054,080
E i3 5 773| 288,360 o4 = 3 657| 1,069,200
e 3 5 814| 329,400 e = 3 757 1,242,000
E i3 7 653 187,920 4 k3 8 617| 578,880
B i3 7 773| 244,080 o4 k3 11 609 652,320 |3EIR4S
Y 3 9 964| 397,440 e i 12 466| 305,640
L4 i 11 575 151,200 4 3 16 549| 390,960
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miEd MR 5 | KRE | @asa) &=
R M 3 707| 712,800
ML M 3 718| 725,760
THE | 3| 726 735480 X BRLTVWSEHIFTERIFTY .
R M 3 731| 735,480
ML M 3 736 741,960
XHEF  |E 3 751| 778,680
RHEF | 3 783| 788,400
XHE |E 3 816| 854,280
XHF  |E 3 837| 853,200




